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Objectives:

· To  produce a forecast in the form of a fan-chart

· To assess how an external shock affects your forecast, including your views on uncertainty and the risks involved. 

· To use the fanchart to explain your policy decision.

Exercise

Participants will be divided into syndicates; each one is a Monetary Policy Committee. You have available the forecast from the previous quarter, some information on shocks that have happened since your last forecast, and a table of multipliers.   

Your job, as the MPC, is to assess the future course of the economy in the light of the new information.

You need to identify the underlying ‘shock’ that has affected the economy and consider how it will change the outlook for future inflation; ie your forecast.  

In this exercise we give you three possible economic scenarios.  Your team is the MPC so your job is to assess the future course of the economy in the light of the scenarios.  You can analyse just one scenario or a combination of them.  

Fan chart

The fan chart assumes that the forecast can be summarised by three pieces of information: the central forecast (mode), the skew (balance of probabilities around the mode) and the uncertainty. Therefore your committee needs to agree parameters for these.  

When you have done this we will ‘draw’ your fan chart.  You can then use this as a basis to decide upon, and explain your policy decision in a press conference.  You should explain what has happened to the economy, what you expect to happen in the future and why you have acted as you did.  The assembled press will then ask some penetrating questions!!

Table of Multipliers- a summary of the model

A problem facing monetary policy makers is that even if they have isolated the shock its effect on the economy may be difficult to know.  For that reason we have provided you with some ‘multipliers’ in the table below.  They can be thought of as a summary of the model.  They show the effect on inflation from a given unit shock to a fundamental variable after one and two years and a range of uncertainty around that number.  You may think that some of the shocks are not very fundamental – for example the level of equity prices – and you would be right.  But think of this as an exercise rather than a very accurate description of reality.
	Sudden 1% rise (expected to be sustained for one year) in 
	affects annual inflation 

1 year ahead by
	2 years ahead

	Level of equity prices


	0.05
	0

	Level of exchange rate (appreciation)
	-0.1
	-0.15

	Long-run growth rate of output
	0
	0

	Price margins
	0.9
	0

	Level of demand above potential
	1.14
	0.1

	
	
	


Example:  Fall in Equity Prices

Since you last made the forecast, a quarter ago, there has been a 10% fall in the level of equity prices.  

From the table, given the multiplier of equity prices on inflation, the effect of this last quarter’s fall in equity prices would be to LOWER inflation by 0.5pp a year later (acting through consumption), and nothing the year after that.

· Over the next year you decide that the most likely scenario is that the fall in equity prices will be sustained.

· You decide that you are comfortable with the model’s simulations: that this sustained fall will indeed lower the central forecast (mode) for inflation one year ahead by a further 0.5 percentage points but have no impact on two-year ahead inflation

· You consider that uncertainty about equity prices is likely to increase, i.e. that the variance of your forecast for consumption is higher than previously.  Let’s say the uncertainty of equity price predictions increases its conditional variance by 10%.

· You are concerned that there is a possibility that equity prices might stop falling over the next year, acting to stabilise consumption and inflation.  Thus there is there is an upside skew to your most likely scenario for equity prices. You think that the probability of equity prices being above your most likely case of a 10% fall is 0.6.

You might therefore complete the risk assessment table as follows:

	Key assumptions in forecast and assessment of risks

	
	Central Case

(mode and multiplier)
	Variance 

(relative to average past behaviour, 1 = average of past behaviour)
	Skew

(probability of being above the central case)

	
	The 10% fall in the stockmarket is sustained.

As predicted by model (given multiplier, the effect on inflation is -0.5pp after a year, and 0 a year after that)
	1.1
	0.6

	Explanation
	The lower level of equity prices will be sustained for a year, as it is a fundamental correction for past over-investment.
	Global uncertainty affecting stock markets implies risks higher than historical average.
	The risk is of the slide in equity prices coming to a halt, and even reversing.

	What off-model evidence might you use (invent) to back up your argument?

Data from options prices on stock-market indices. 

Banking sector specialists report that the ownership of the falling-price equity is quite concentrated in one part of the financial sector which is also liable for sizeable personal sector deposits.




Shock 1:  Exchange rate 

The exchange rate has appreciated since the last forecast round by 8%.  There is some uncertainty about what effect this will have on inflation.  Your analysts disagree with each other, using the following arguments:

· Interest rates are 3 percentage points higher than overseas.  According to the uncovered interest parity criteria, the expected annual depreciation in the exchange rate equals the excess of domestic nominal interest rates over foreign rates (i.e.  ∆e = r* – r + risk premium).  So that means that because domestic interest rates are higher than those overseas, in the absence of risk premia, we would expect the exchange rate to depreciate by 3% over the year. 

Leaving aside evidence of a changing risk premium, the exchange rate behaviour would reflect expectations of future interest rate differentials, which will if anything, widen further.

On another view

· The exchange rate now appears to be 15% overvalued on the basis of measures of the Fundamental Equilibrium Exchange Rate (the exchange rate that would be consistent with an approximate balance between current and capital accounts).  There is some possibility that the exchange rate might depreciate sharply, and little possibility that the exchange rate will appreciate further.

On another view

· The current appreciation reflects short-term volatility and may be reversed quickly.  Ignore the 10% appreciation as purely short-term volatility.

On another view

· Exchange rates are a random walk. The best forecast for the future exchange rate is the current day’s rate: assume no change.

	Exchange rate shock:  Key assumptions in forecast and assessment of risks

	
	Central case 

(mode and multiplier)
	Variance

(relative to average past behaviour, 1 = average of past behaviour)
	Skewness

(probability of being above as opposed to below central case)

	
	Year 1
	Year 2
	Year 1
	Year 2
	Year 1
	Year 2

	Judgement
	
	
	
	
	
	

	Explanation
	
	
	

	What off-model evidence might you use (invent) to back up your argument?




Shock 2:  Privatisation proceeds

Issue:  A large and profitable electricity generating industry will be privatised through the issue of vouchers to all customers. The total value of the firm is 2% of GDP.

On one view:

This represents a strong consumption boost.  The vouchers will be sold to foreigners, the money spent on consumption and inflation will increase significantly. 

On another view:

The boost to consumption will not be very strong since: 

(a) the permanent income hypothesis implies that most of the gains will be saved (or spent on durable goods);

(b) the vouchers will be bought largely by local pension funds and financial institutions, and therefore represent a transfer of funds within the economy with little effect on overall spending;

On another view:

The privatisation will lead to increased efficiency and thus represents a positive productivity shock.  It may increase demand but that will simply reflect higher productivity and will have no inflationary consequences.

	Privatisation shock:  Key assumptions in forecast and assessment of risks

	
	Central case 

(mode and multiplier)
	Variance

(relative to average past behaviour, 1 = average of past behaviour)
	Skewness

(probability of being above as opposed to below central case)

	
	Year 1
	Year 2
	Year 1
	Year 2
	Year 1
	Year 2

	Judgement
	
	
	
	
	
	

	Explanation
	
	
	

	What off-model evidence might you use (invent) to back up your argument?




Shock 3 : Productivity 

Inflation has fallen below target: one explanation suggested to you is that it is evidence of be a positive productivity shock.  The analyst argues:

The internet revolution has led to a permanent improvement in the rate of growth of productivity. In fact, countries all over the world are undershooting their inflation targets. A fall in inflation below target will be damaging to credibility and a near-zero inflationary environment might also be damaging for growth. The model (as it stands) would forecast that an improvement in productivity growth would be perfectly accommodated without any effect on the output gap, or the real exchange rate.

Alternative view: there is no firm evidence of a realised productivity shock.  Lower inflation could be due to more competitive product and labour markets.  Even if there is a positive productivity shock the idea that it has led to permanently increased growth is extremely optimistic and possibly dangerous.

	Productivity shock:  Key assumptions in forecast and assessment of risks

	
	Central case 

(mode and multiplier)
	Variance

(relative to average past behaviour, 1 = average of past behaviour)
	Skewness

(probability of being above as opposed to below central case)

	
	Year 1
	Year 2
	Year 1
	Year 2
	Year 1
	Year 2

	Judgement
	
	
	
	
	
	

	Explanation
	
	
	

	What off-model evidence might you use (invent) to back up your argument?
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